Answer Sheet on Unit -7
Lesson (1-2)
1. Choose the correct answer.

Iv (observe)

Il (accomplishment)

Iv (start)

I (normally)

Il (native)

Iv (pause)

I (an enclosure in front of a school)
il (load)
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2. Answer the following questions.
a. Ashish and Arun are the two players according to the text. The writer of
the text have known them for a long time.
b. Going home is a wonderful experience to Ashish Biswash. In his village
his mother waits for him. Sometimes he goes for cycling or for a long walk.
c. Idon’tthink Ashish leads a boring life. He performs all the activities
according to a routine and he goes to his village home on his holiday to meet
his mother and there he also performs different activities.
d. Here in the sentence the writer is known to Ashish and Arun for a long
time. The two players are intimate with the family of the writer.
e. Arun gets the opportunity to play in the school compound because he
goes to a local school.
f.  Abir is the brother of Ashish and Apala is the sister of Arun.
g. Apala doesn’t like cricket. She is swimmer.
h. Ashish plays football and Arun practices cricket. They are different from
others.



